Creative Playthings

DELUXE HAND GRIPS

Creative Playthings

DELUXE HAND GRIPS

SKU # AJ957-400

Creative Playthings takes great care to design its products with your child’s safety in mind. However,
only by careful supervision and explanation to your children, can you be assured of safe play time on
any product designed for use by children. We ask you to carefully read the instructions before using the
product. Do not allow children to play with parts prior to assembly.
ADULT ASSEMBLY REQUIRED. ACAUTION: Small Parts. Keep from
Intended for Ages 2 to 12 Years. children until fully assembled

Contents:
2 each 14179-400 Deluxe Hand Grip

50403-700 Hardware Bag:
4 each 17036-601 Lag Screw, 1/4 x 1-1/2"
4 each 12002-205 Flat Washer, 1/4"

Tools Required:

7/16" Wrench
1/8" Drill (optional)

Installation:

The Deluxe Hand Grip can be installed
in place of the standard Creative Play-
things plastic hand grip. In this case
follow the instructions included with the
Gym and use the hardware provided
for the original Hand Grips. In some
cases the hex bolt assembly will have
to be inverted with the weld nut pushed
through the holes in the Hand Grip.

or 16}
If using the Hand Grips in another position, be sure %

that the wood is thick enough to receive the 1-1/2"

Lag Screws. Locate the best position for the Hand grips; Just above the level of the
platform is recommended. Attach each Hand Grip using two of the included 1/4"
Lag Screws and Flat Washers, as shown. Drill 1/8" diameter pilot holes for the Lag
Screws and tighten them with a 7/16" wrench.

Warning: The Deluxe Hand Gri

must be oriented as sho:;r; in thz M(‘(M@N‘&‘&“««(&(@

illustration. Installing Grip

upside-down could cause injury, 14 x 1-1/2"
according to ASTM guidelines. Lag Screw 1/4" Flat
Washer

19722-100 Rev C (03-21)

)

DELUXE HAND GRIPS
© Copyright 2006, Creative Playthings. Printed in China.

SKU # AJ957-400

Creative Playthings takes great care to design its products with your child’s safety in mind. However,
only by careful supervision and explanation to your children, can you be assured of safe play time on
any product designed for use by children. We ask you to carefully read the instructions before using the
product. Do not allow children to play with parts prior to assembly.
ADULT ASSEMBLY REQUIRED. ACAUTION: Small Parts. Keep from
Intended for Ages 2 to 12 Years. children until fully assembled

Contents:
2 each 14179-400 Deluxe Hand Grip

50403-700 Hardware Bag:
4 each 17036-601 Lag Screw, 1/4 x 1-1/2"
4 each 12002-205 Flat Washer, 1/4"

Tools Required:

7/16" Wrench
1/8" Drill (optional)

Installation:

The Deluxe Hand Grip can be installed

in place of the standard Creative Play-

things plastic hand grip. In this case

follow the instructions included with the

Gym and use the hardware provided

for the original Hand Grips. In some

cases the hex bolt assembly will have

to be inverted with the weld nut pushed

through the holes in the Hand Grip.

or

If using the Hand Grips in another position, be sure
that the wood is thick enough to receive the 1-1/2"
Lag Screws. Locate the best position for the Hand grips; Just above the level of the
platform is recommended. Attach each Hand Grip using two of the included 1/4"
Lag Screws and Flat Washers, as shown. Drill 1/8" diameter pilot holes for the Lag
Screws and tighten them with a 7/16" wrench.

Warning: The Deluxe Hand Gri

must be oriented as sho:;r; in thz M(‘(M@N‘&‘&“««(&(@

illustration. Installing Grip

upside-down could cause injury, 14 x1-1/2"
according to ASTM guidelines. Lag Screw 1/4" Flat
Washer

19722-100 Rev C (03-21)

)

DELUXE HAND GRIPS
© Copyright 2006, Creative Playthings. Printed in China.




